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Note: Answer any five questions: 

1. Explain Sequential multiplication algorithm? Perform sequential 

multiplication for M=1001 and Q=1111.                                                                                                                       

(5M+5M=10M) 

2. Perform the operation of division using Restoring  and Non Restoring 

method on the following pairs of numbers where X is the divisor and Y is the 

dividend X=0101, Y=11111.                   (5M+5M=10M) 

3. Perform the operation of multiplication using Booth algorithm and bit pair 

recording on following pair of numbers where M=01001 and Q=01111.                                    

(5M+5M=10M) 

4. Represent the following floating point number in single and double precision 

format (5M+5M=10M) 

a)1.725     b)-25.125 

        5a. A computer has L1 and L2 caches. The cache block consists of 8 words. The 

hit rate is 0.95 for both  

             Caches. the time required to access an 8 words block in L1 cache is 1 cycle 

and in L2 cache is 10     

             cycles. Time needed to access L1 cache is 1 cycle, L2 cache is 10 cycles and 

main memory is 50   

             cycles. Calculate the average access time experienced by the processor.                             

(6M) 

         5b. Bring out the comparison between different mapping function techniques                        

(4M) 

 

6. Write a short note on  a) PCI Bus  b) SCSI Bus               

(5M+5M=10M) 

 

7. With a neat diagram explain serial interface Device.                     

(10M)   


























